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Deng Xiaoping gave the Chinese people a little economic freedom 

People can have a small business 

They can keep the produce of their labor after they reach their quota

This causes GDP to rise 

When people get a little freedom they want more 

This leads to conflict in China in the summer of 1989 

10s of thousands of student protestors gather in Tiananmen Square in Beijing for political reform

Deng  has a choice 

1 give the people what they want or 
2 kill them 

Deng sent in his army and kills 1000 people 

His dictatorship continues

China is presently a capitalist dictatorship


Korea
After WW2 the U.S. wants Korea to become capitalist and democratic

The USSR wants Korea to be a communist dictatorship 

The nation is divided into North and South

In June of 1950 North Korea invades South Korea

In 1953, a ceasefire is agreed upon and the DMZ  (demilitarized zone) is established

“Status quo ante bellum” means the state at the end of the war is the same as it was before the war.


**Road density will be on the quiz 

North Korea              		South Korea

120,000 km2                 		100,000 km2			Area of the country
24,000,000                 		50,000,000			Population per mile
       25,000                             	     105,000    		Roads per kilometer

.2 km of road per 1 km2           	1 km of road per 1 km2     	Road density
Mostly dirt roads.       		Most are paved
                                   

South Korea has more quality and quantity of roads per square kilometer.




**Trans-Pacific Partnership is a free trade agreement between the U.S. 
and Chile Australia Peru New Zealand Vietnam Brunei Philappines  and Singapore

The purpose is to reduce and eliminate tariffs

                		Australia.                          U.S.
Maple      		8$                                     5$
Syrup

The Australians will put a four dollar tariff on Maple Syrup from the US

Nikes      		10$                                   13$
Shirt

The U.S. Will put a four dollar tariff on Nike Shirts from Australia

With tariffs it costs a person in each place 18$ to by one maple syrup and one Nike shirt.

But without tariffs we save three dollars and can get the best of both for 15$







Order                        	Disorder
Democracy               	Anarchy
Rule of law               	Rule of man
US                             	Syria
Japan                        	Iran
Germany                  	Yemen
UK                             	RussiaState of Nature war against everyone else/free for all
Social contract we agree to live together


Israel                         	China



